
ADVANCED LIGHTNING TECHNOLOGY

ASS-1

Item
3844

Part No.
3844-3

Part No.
3846

Part No.
Qty Description

1 4400 4400 4400 4 Hex Bolt

2 4710 4710 4710 4 Flat Washer-1/4"

3 7000-3844-PLEX 7000-3844-3-PLEX 7000-3846-PLEX 1 Plexiglass Cover

4 3872 3872 3872 8 Insulators

5 7000-3844 7000-3844 7000-3844 1 Copper Bar

6 4400-6 4400-6 4400-6 4 All Thread Stud-1/4" x 7/8"

7 3880-1 3880-1 3880-1 2 Brackets

8 4714 4714 4714 4 Lock Washer-1/4"

9 4401 4401 4401 4 Hex Bolts-1/4" x 5/8"

Product No. 3844
3844-3
3846

Date Revised  1/2/01

MATERIAL LIST

1

2

3

7

5

6

4

8

9

MULTI P
OINT GROUND

SINGLE POINT GROUND

3844-3 kit carries a 7000-3844-3-
PLEX  6” x 8” x 1/4” Clear
Plexiglass cover which lettering is the
same as above.

MULTI P
OINT GROUND

3846 kit carries a 7000-3846-PLEX
7” x 9” x 1/4” Clear Plexiglass cover
with 3/8” Green and Yellow stripes
with 3/8” black letters “Single Point
Ground” all on backside of plexiglass
in reverse.

3844 kit carries a 7000-3844-PLEX
5” x 7” x 1/4” Clear Plexiglass cover
with 3/8” Green and Orange Stripes
with 3/8” black letters “Multi Point
Ground” all on backside of plexiglass
in reverse.

10


